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POLITICAL HISTORY OF INDIA (1526-1857)
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Note :

1. Choose the correct from the multiple choice questions.

Option—(1)

Total Pages : 5

852

[Maximum Marks : 80

Attempt five questions in all, selecting one question from each Unit.

Question No. 1 is compulsory. All questions carry equal marks. For

visually handicapped candidates, the part relating to the explanatory

note on map will carry full marks.

Y% THE H U Weh U 1 999 & gL, KA U YA F TN

AT e e 1 Atar 21 9t ye & o wuE g1 dod e

foanfeal & fau amfes datt oo a9/ & R 3w s
Compulsory Question ( 3Tamr ¥9)

Sgfasedd T ¥ 9 WEl IaR giu|
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In which year battle of Kanwaha fought?

HAE i ASE Hd T§ ¢

(a) 1517 AD (b) 1526 AD
(c) 1527 AD (d) 1529 AD
Which of the following states was not won by Shershah Suri?

e g A e A 9 s e faem T2 R e

(a) Malwa (b) Gondwana
BIGE] HICCIE!

(c) Raisin (d) Kalinjar
RRIESE| CAIGER

Where was Ibadat-Khana built by Akbar?
3R A TERA-@Ml 1 A0 gl HLamn?

2x8=16
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(a) Delhi (b) Lahore

feeedt ARR
(c) Agra (d) Fatehpur Sikri
3 FHAeqX Heh

(iv) Kandhar had been lost from the Mughals in ...........
e ¥ ¥ *9R a0 9 9 e T e
(a) 1623 AD (b) 1638 AD

(c) 1649 AD (d) 1652 AD
(v) Dara Shikoh was son of ................

TN RTehg TRl ST oO1?

(a) Akbar (b) Babar
SHhda{ EIELS

(¢) Shah Jahan (d) Aurangzeb
NIES SRS

(vi) By which treaty the Third Battle of Karnatka was ended?
Sk 1 d90 g forg G-y g/ war gam?

(a) Aix-La-Chapelle (b) Madras
TR -39 ST

(c) Pondicharry (d) Paris
Tife=r i

(a) 1839 AD (b) 1849 AD
(c) 1856 AD (d) 1857AD
(viii) Who led the uprising of 1857 in Kanpur

1857 €. & fage o +HR # famifeal &1 a1 s en?
(a) Nana Sahib (b) Kunwar Singh
BB IEE| FHR fHe
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(c) Begum Hazrat Mahal (d) Tantya Tope.

ST BSd U qen 2|
UNIT-I (3&3-1)
Discuss in brief the achievements of Babar was he the real founder of
Mughal Empire in India? 16

e’ i FHAdS i W@ U I &1 98 9Rd | T 9HsT @l
qrideh e o917

How far is it true to say that Sher Shah was the fore-runner of Akbar? 16

IE Fedl FE qh T © 1 IWNE 3ThaR T ST 77

UNIT-II ( Seht3-11)

Give an account of the central administration of the Mughals. 16

Tl & H5d A Jery 1 fogagor i)

Critically examine Aurangzeb’s responsibilities for the downfall of the
Mughal Empire. 16

T OEed & 9aq H SfUSe & SciQliie @i STeleHcds  foee
HifST]

UNIT-III (3eht3-111 )

Give a brief account of the Anglo-French struggle for political supremacy
of the Decean. What were the causes of the success of the British in this
struggle? 16

AU qeN WA & &9 SO 9Ra | qoHiae Jdreadl & o 9oy
o1 gfer faeror fSw) =9 T9d O TS &l T%adl & 1 HRO 97

Describe the impact of the uprising of 1857. 16
1857 3. & fasie & W@l & U HifST

UNIT-1V (S&E-1V )

On the outline map of India show the Mughal Empire at the death of
Aurangzeb. Also write an explanatory 10, 6
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IR & @ AFFES R ARSE # gd (1707 3.) & THT & Tl qHR
i <IMET| Teh ARG feoqult ot fafam)

On the outline map of India show the expansion of British Empire upto
1856. Also written explanatory note. 10,6

TN o W HAfIT W 1856 3. d fafewt wmwrew for =i <ozt s
s feoqufl ot fafam)
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OUTLINE MAP OF INDIA
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